LOGER
Article No.:GG030993

A

n~
LE

A

nlhnns
ATt

©

|

\f,\,@

29*1 @9*1 D) 89" A M6-6 B M612-37  |C M6*35-4 D M6*40-4
o & % N @ Yo \ e \ &
E M6-5 F D6-3 G D1.2:5 H M6*40-1 | M6*70-2  |L M6*25-2 M M6-4

© |—0| eac | (o \ o Yo @ ©O




1. B M6*12-4

2. AM6 2PCS
B M6*12 2PCS
E M6 2PCS

M M6 2PCS

4. B M6*12 8PCS







9. B M6*12 2PCS

| M6*70 2PCS

10. H M6 1PC
E M6 1PC
M M6 1PC

11. B M6*12

4PCS

oooooooooo
0000000000
oooooooooo




13.

14. D M6*40 4PCS

15.

A M6 3PCS
B M6*12 3PCS
C M6*35 4PCS

L M6*25 2PCS

16 F D6 2PCS
G D1.2 2PCS




GardenStore Nordic AB.

Maria Bangata 17, 118 63 Stockholm,
Tel: +46 8-622 60 00

Mail: Kundservice@gardenstore.se

2 &




